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Entomology-II
Paper : MZO-09
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Note -— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 8x2=16

(Very Short Answer Type Questions)

Note — Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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1. (1) Write any two examples of muscular poison.
A e & HE & I fafen
(i) What is Insecticide Act, 1968 ?

FieAe situfd, 1968 =1 ¥ ?

(ii1) Give any four control measures of Helicoverpa
armigera.
Helicoverpa armigera & &3 aR =00 3um
AR |

(iv) Give any four scientific names of pests of

fruits.

el o hidl & Toh=al O Hidl & Ol =9
SATST |
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(v) Write full forms of CIB and APEDA. 2. Write an essay on semiochemicals.

CIB W@ APEDA 1 Ui 7/ Saisy | SRR o e Ferfa

(vi) Differentiate  between  synergism  and
3. Explain different ways to manage pest with the

antagonism.
Arrarfear we oY & o st 4R help of cultural practices.
(vii) Give names of any two Silkworm Research HIE & YEEH & o Arepfas 9o fRe ger STErn
Centres/Stations. ¥ 2 gmEmu
T HE ® FIIYN HS/RIE H FE & TH ' .
4. Write notes on the following :
fafer |
(viii) What 1s primary and secondary grain pest ? (@) Castes of Ants
Tt wd fEdias o\ #ie | ¥ 2 (b) Environment Protection Act, 1986

Section—B 4x8=32 frretferfen w femforal fafen
(Short Answer Type Questions)

' (37) wifedr =t sfaar
Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 8 marks. (&) e gRan sfuftEd, 1986
gus— 5. Discuss the life cycle and control measures of
(g AT 999) L
) ) Agrotis ipsilon.
fdor:- 5l 9@ Ul & S STl AW T SW W
SAfrram 200 v # GRS o g9 Agrotis ipsilon % SaA = TE FEO 39 &t ==
8 31T T ¥ T |
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. Describe the host plants of silkworm and types of

silk production.

/W FE & T 99 T /M SARA F TERK H
HHART

. Write an account on organophosphates.

SRHIRERed T foe=mr wifsa

. How the insects develops resistance against
insecticides ? Explain.

HicARTR & Ufa ®ie H yfigew ama w9 fawfaa
B ¥ ? HHIET

. How Dbioaccumulation is differentiated from

bioconcentration and biomagnification ? Explain.

Saged fFe YRR Sausn T Sagfe 9 ST © 2
HHART |
Section—-C 2x16=32
(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

your each answer maximum up to 500 words.

Each question carries 16 marks.
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10. What is the medical importance of Mosquito ?
Also differentiate between Anopheles, Aedes and Culex

Mosquito.

T3l i Afewe Hewdl & R H odETl WY g
Anopheles, Aedes T8 Culex & sie TR TI HITIT |

11. Describe distribution, life cycle, nature of damage,
economic importance and control of Sesamia

inferens.

Sesamia inferens & TaaRol, Sfeq =eh, @fd &1 Y&,
3nfereh Hewl e IS s gHeEy |

12. Write notes on the following :

(@) Precautionary measures used  during

insecticide application

(b) Types of dusters
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frafafeq w fewfot fafea -

(31) HIeANE AP & farE S
(d) T=H & YHR

13. Define Pesticide. Also elaborate I, II, IIT and IV

generation of pesticides.

FISARER i qRen A @e & Freand & 1 1,
11 wa IV Wg & 99eEy |
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